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FINAL EXAM


The final exam has the same rules and conditions as the midterm exam: open book, open notes, and no consultations.   Clearly show your work. This portion of the final exam counts for 100 points. You have until 10:30 a.m. to complete the exam. 


Answer both questions in Part I and three questions from part II.  If necessary, indicate which questions you are answering. Indicate your adherence to the Lawrence Honor Code.

“There are two and only two ways to grow an economy in real terms.  You can grow your working population or you can increase your productivity.  That’s it.  – John Mauldin

Part I. (40 points)

1. Use the following algebraic model of an economy to answer parts a-d.  You may use graphical versions of this model to answer parts e and f.

(1) 
Labor Demand:   

Ld = n0 - n1*(W/P) + n2*K + n3*RM
(2)
Labor Supply:


Ls = s0 + s1*(W/P) 

(3)
Labor Market Position:

U = (Ls - Ld)/Ls + U*

(4)
Production:


Y = Tech*Ld.6 *K.3*RM.1
(5)
Consumption:


C = co + c1*Yd +c2*NW – c3*P  (NW = net worth)
(6)
Investment:


 I = d - e*r 
(7)
Governmental Expenditures
G = G0 + f*(Yp – Y)
(8)
Net Exports:


X = go - g1*Yd - g2*r 
(9)
Disposable Income

Yd = Y - T

(10)
Taxes:



T = to + t1*Y

(11)
Aggregate Expenditure:

AD = C + I + G + X

(12)
Goods Market Equilibrium: 
Y = AD

(13)
Money Demand:

Md - P = h1*Y - h2*i
(14)
Money Supply:


M = m0 + m1*i 

(15)
Money Market Equilibrium: 
Md = M

(16)
Nominal Interest Rate:

i = r +  πe

Endogenous Variables


Exogenous Variables
Ld,P,U,Ls,Y,C,G,Yd,T,r

W,K,RM, U*, Tech, NW, Yp, πe and

I,X,AD,Md,M,i

various autonomous terms (e.g., n0, s0, t0)
(6)
a.
Derive the IS Curve. 

(4)
b.
Derive the LM Curve.

(6)
c.
Derive the Aggregate Demand Curve and indicate its slope.

(6)
d.
Derive the Aggregate Supply Curve and determine the sign of its slope.

(9) 
e.
Determine the effect of an increase in potential GDP (Yp) on output, prices, real interest rates, and employment.  Show graphics based on the above model.
(9)
f.
Show how an increase in the raw materials (RM) affects output, prices, real interest rates, and employment.  Show graphics based on the above model.
2.
(24 points)  Consider the following version of model 5.  Except where indicated, variables are expressed in current year terms thus the “t” subscript has been suppressed. Be sure to show your work for all parts.

IS Curve:   


Y = Yp – α(r – ρ) + NX+ є 

Net Exports


NX = x0 - x1*E 



Fisher
Equation:  

r = i - πe

Phillips Curve:  

π = πe + φ(Y – Yp) + v


Inflation Expectations:  
πe = π-1

Monetary Rule:  

i=  π + ρ + β*(π – π*) + (1- β )*(Y-Yp)  0 < β < 1
Endogenous variables: Y, r, NX, π, πe, i
Exogenous variables:  Yp, ρ, є, E, x0,v, π*
(6)
a.
Derive the dynamic aggregate demand curve.   Indicate its slope.

(3) b.
Determine the dynamic aggregate supply curve and indicate its slope.

(8)   c.
Paul Krugman, Olivier Blanchard and others have suggested that the inflation target (π*) be raised to 4%.  What would happen to the paths for output and inflation if monetary policy reflected this new inflation target?
(7)   d.
How would the results in d change if inflation expectations were rational? 
Part II (12 points each) Answer three of the following questions.  Indicate any noteworthy assumptions.
1. Evaluate the quotation at the beginning of the exam.  If you believe that it is true, provide evidence to support your assertion.  If you believe that it is false, how would you change the statement to make it true?  Provide evidence to support your claim.
2.
Use Model 4 to determine the effect of an exogenous increase in net exports on GDP, P, L, U, W/P and r.  Assume Y < Yp .  Provide graphics to support your claim.
3. Use Model 5 to determine the paths of output and inflation if there is a positive aggregate supply shock in period t (i.e., vt < 0).  Provide graphics to support your claim.
4. The Iron Triangle or Impossible Trilogy

a. In terms of policy making regarding openness of the economy, what three policy options must be jointly considered by macroeconomic policy makers? Explain why the third policy depends upon the choice of the first two.
b. In light of the Iron Triangle, why might large countries and small countries make different policy choices?

